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<PWVD—FD 1> [T
Al: 6L H L, [ ]
B1: (X0, [ ]
A2: REHESAD BELSTTDL [ ]
B2: WX, BBWETIFE, [ ]
A:H, LohWLELE, [ ]
B3: LMMVZ, [ ]

Q.1 What does “ B VFE T originally mean? What are the Japanese people avoiding by using this
expression?

<PWVD—FD2> (A serves tea and B spills it on the carpet)
AlL: [V, ESF, [ ]
Bl: £E5%, HH. THEHA. [ ]
A2: Daijoobu T3, [ ]
B2: X1\, Daijoobu TI M, [ ]
A3: [0, [ ]
B3: ES5HbTHEHA. [ ]
Ad: ©WOVZ, [ ]

0.2 Contrary to what textbook says, the Japanese do not use “(V(VZ ” as often as Americans use
“No” in English. Why is this? How is “( V()X ” different from “No”?
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<DPESB “Apologizing”>

1)
2)
3)
4)
5)
6)
7

8)

THEBA.
THEHATLE,
LohWL kT,
LonhWWLELE,

EINT
EINT
EDSIF
hbhb

THE A,
THEHATLE,
LDohWLELE,
EEDITET,

[
[

L&ZEw> 1 (Beginning 1)/ EHH
070705

[ZW ]

Q.3 Although there are many things in common between an English apology and a Japanese apology,
there is a crucial difference. What is it? What type of miscommunication can you predict from the

difference?

<NPWVD—FD 3>

(A caused some trouble to B on previous day)

Al:

B1:

A2:

B2: (MM %,

A3:

ZhITBIL,
bdH., CAICBIL,

EDS5F E£5b FTHEHATLEL,

_hhrb EZDIFET,

B3: %5 WLWWTT &,

A4:

B4: (i("o

THERA.

Q.4 There are two cases when you can use

“(VOVZ.” What are they?




